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Section A 17 M. Magsood Ali

(7) 6 x10°-3 x10* = , standard form.
(a) 6.97x 10° (b) 3 x10? (c) 3 x10°
d 5.7 x10°

(8) 4x104-7x10°5 =
(a) -3x10! (b) 6.6x10* (¢) 3.3x10°
(d) 3.3x 10"

(9) 0.8x0.6= correct to one significant figures.
(a) 0.4 (b) 1.0 (¢c) 0.5 (d) None
(10) 14x5= correct to two significant figures.
(a) 70 (b) 7.0 (¢ 0.7 (d) None
98.6932 ..
(11) — 5 = correct to one significan t figure.
@ 2 (b) 20 (c) 1.9 (d) 19.7
5869.2
(12) ~ e correct to one significan t figure.
@ 20 (b) 14.7 (¢) 1.47x10' (d) 10
(13) 24 kg is rounded off to the nearest kg. Which is the correct of the
following?
(a) 23.5 <24 <245 (b) 23.5 <24 < 245
(c) 235<24< 245 (d) 23.5<24<24.5

(14) 2.5 cm is rounded off to the nearest tenth cn. Which is the correct of
the following? (All values are measured in cm).

(a) 245< 25<255 (b) 2.45<2.5<2.55
(c) 245<25<2.55 (d 245<25<2.55
(15) 5 gis rounded off to the nearest unit gram. Which of the follow ing is
correct?
(a) 45<5<5.5 (b)4<5<6
(c) 45<5<55 (b) 45< 5<5.5

(16) The lengths of two sticks are 50 cm and 25 cm both are correct to the
nearest cm. What is the smallest combined length in cm of the sticks?
(@ 755 (b) 74 (c) 75 (d) 745

(17) The mass of sugar is 12.5 kg, correct to the nearest tenth kg and the
mass of rice 20 kg nearest to the ten kg. What is the average of the

greatest and smallest mass in kg of sugar and rice respectively.
(a) 16.025 (b) 16.25 (c) 14.75 (d) 16.475
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(13)

(14)

(15)

(16)

(17)

(18)

(19)

(20)

(21)

(22)

(23)

(24)

(25)

J14.4 x 1073 =2

(@ 1.2 (b) 0.12
30027 x107* =2
(a) 0.03 (b) 0.3
312.5 x 10* =2
(a) 250 (b) 500
J2437 =? if J2.437 =1.56 and
(a) 494 (b) 156
34863 =? if 3/4.863 =1.69 and
(a) 786 (b) 16.9
V=27 +5°-2.J4 =7
(@ -6 (b) -3+ 3i
N=32)° & J-3 .49
(@ -15 (b) 8i-3
J(=4)® +6J4 =2
@ 4 (b) 12 + 8i
43/2 _ 272/3 - ?
@ 6 by -1
-3

4> - 3° x [i] =?

o
(a 120 (b) 16
31/3 = 34/3 =7
@ 3 (b) 1/3
32 .@)"?
(a) 8 (b) 2i

J2 .62 [lj |
3
(a) 4.32 (b) J4

(c) 12
(c) 0.003
(c) 5000
J24.37 =4.94,

(o) 49.4
3/486.3 = 7.86.
(c) 78.6
(o) 12
(c) 8 + 3i
(c) 12-2i
(c) 10
(c) -8
(c) 9
(c) -2

(c) 3

d) 0.012
(d) 0.0003
d 50
d) 15.6
d) 169
(d) None
d -11
(d) None
d) -5
d) 8
d) 27
(d) None
d 6
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(11) A model of a machine is made to a scale of 1 : 20. If 5 kg iron is used to

(12)

(13)

make the model. How many kilograms of iron will be used to make the
machine?

(a) 40000 (b) 2000 (c) 100 (d) None
A model of a tank is made to a scale 1 : 10. The maximum volume the
tank holds is 8000 litres. How many litres can be held by the model?

(a) 1.25 (b) 80 (c) 800 (d 8

The model of a boat is made to a scale of 1 : 5. The model boat can
swim with maximum mass of 6 kg. How much mass, in kg, can be
loaded on the original boat?

(@ 300 (b) 30 (c) 750 (d) 1200








